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2. Determine, using the values given in TABLE A, the current 7 in the
circuit of FIGURE 2 by:

(a) mesh analysis

(b) nodal analysis.

V3 ’
‘_
clockwise direction
N 0
14
'—"'"Z-—' 7 ‘—Z-—' r|Z:|_ V] ]20[0_0 V
y
I \ 2 3 V2 f20@0 1%
. 2 v, | 20lsev
! C) g B ]25 & C) 2 (2, 20
Z, -3 2
Z3 48
. Z, | S50
Z5 j4Q
FIG. 2 TABLE A



Anthony
Typewritten Text

Anthony
Typewritten Text
clockwise direction

Anthony
Typewritten Text

Anthony
Typewritten Text

Anthony
Typewritten Text

Anthony
Typewritten Text

Anthony
Typewritten Text

Anthony
Typewritten Text

Anthony
Typewritten Text
I1

Anthony
Typewritten Text
I2

Anthony
Typewritten Text
I3

Anthony
Typewritten Text
I4

Anthony
Typewritten Text




